P-iveting F-evision
WALT: revise our learning and apply our skills in a range of concepts

We are revising our previous learning!

Place value revision
Decimal revision

What is 1000 x 10? 10000

Whatis 1+ 10?7 0.1

What is 1 + 1007 0.01
0.2+10=0.02

How many 10s are in 2317 23

How many thousands are in 13457 1

How many hundreds in 23547 23

Which of these are the largest?

11 230 mm


https://www.bbc.com/bitesize/guides/zddqtfr/revision/4
http://www.bbc.co.uk/bitesize/ks3/maths/number/decimals/revision/1/

1095 cm
108.9 m this one is the largest (I think?)
0.1km

Shape Revision
Perimeter Revision
Area and Volume Revision

What are the properties of a triangle? 3
What do the angles of a triangle add up to? 180
What is the area of this shape? Its height is 7cm and its base is 5cm. 17.5

What are the properties of a cube? 6

Its sides are 12cm long. What is its volume? 12cm

Each side of a square is 5cm long. What is its perimeter? What is its area?

2 Radius

the radius is 5. What is the area of the circle? 15.7


https://www.bbc.com/bitesize/guides/zj76fg8/revision/1
http://www.bbc.co.uk/bitesize/ks3/maths/measures/perimeter/revision/3/
https://www.bbc.com/bitesize/topics/zrf3cdm

2875 - 1967 = 908
90+89+75+ 84 = 338

1412 - 450 = 962

Percentage Revision

Write 70/100 as a percentage 70%
Write 40/200 as a percentage 2%

What is 15 percent of 3007 45%

Fraction Revision

2+1%=0.6
a+1/6= 0.5
%+ %2=0.45

What is a number in between 2/10 and %7 2/10, 5/10. 3

47.03 +1.97 =49

0.5 =50%
25% = 0.25
Ya=25%

Put the following in order from smallest to biggest:
0.076, 0.21, 0.07,0.1, 0.3

55-455=9.5

1.34 +4.34 =5.68

Allen wants to use the computer for one hour at an internet cafe - which is the cheapest
rate?
a) 16 cents a minute
$5.60 an hour
c) $2.30 per 20 minutes
d) 50 cents per 5 minutes


https://www.khanacademy.org/math/pre-algebra/pre-algebra-ratios-rates/pre-algebra-percent-problems/v/finding-percentages-example
https://www.khanacademy.org/math/arithmetic/fraction-arithmetic/arith-review-add-sub-fractions/e/adding_fractions

e) $3.60 per 30 minutes

Ratio Revision

If 6 packets of lollies cost the same as 4 cookies, how many packets of lollies would cost
the same as 10 cookies? 13

Mean, median, mode and range

Probability

What is the probability that a die will land on a six? %
What is the probability that a coin will land on heads? 7%

| want to know whether there are more boys or girls in year eight at PES. Can | figure this
out by looking at the year eights in room 4? How would | work this out?

147 - 55 = 92.

Interpreting graphs
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How can you interpret this graph? Yes


https://www.bbc.com/bitesize/guides/znnycdm/revision/1
https://www.purplemath.com/modules/meanmode.htm
https://www.bbc.com/bitesize/guides/zk9dmp3/revision/1
http://www.bbc.co.uk/bitesize/standard/maths_i/relationships/interpreting_graphs/revision/1/
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How can you interpret this graph? Yes

Weight by Height by Gender
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How can you interpret this graph? Yes



TRAIN TIMETABLE
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Jill misses Train 3 at Goldstead
by 6 minutes. How long does she
have to wait until she can get the

next train?

= 9 minutes

Bob gets to Church Street at 08.15, what train should he catch? Train 2/8:19

g Rotation
Tranhslation - = tation of 90°,
D ‘b:w'ﬂ' S o | T clockwise, a
a vector 0 describe a rotation !
T Ly o : \‘-L‘IL— s ceﬂre (2,-1)
|_4 l‘ = the angle of rotation

= the direction I"":i'_ clockuise
clackwis
* the coordinatesaf p

= %

—— gil

737 4= squares right|
4 | e squares up
]

. - :
Reflection Transformations
Negative enlargements /
- HIGHER onlyl |
N T[] -
4 X - Enhlargement
- :fz&:ﬂon I; ihe To describe an enlargement ijﬂ—y—
inex =2, i =
ngir R BaTaty, PAPER for franslation, i~ R:rf:::; EplasEaep Lt
the line of symmetry reflection & rotation. B scale factor -




What is the x-coordinate of the yellow pentagon ?

¥
10

x-coordinate:

What is the coordinate of the heart? 1,5
The square moves 2 places left and one place up. What is it's new coordinate? 4,10

The triangle is reflected across line y = 7 . What is the location of the reflection? 7, 9

2+-3=-1

1-5=4

FINDING A RULE!

VIDEO
1 3 4 5 6 7
4 7 19 13 16 19 22

Theruleis: Nx 3 + 1
The 20th number in the pattern is: 61


https://www.mathsisfun.com/algebra/sequences-finding-rule.html
https://www.youtube.com/watch?v=PhFhnUJIhw0

Number 1 2 3

Number of stars 3 5 7

What is the rule for this pattern? N x 2 + 1

What would the next two numbers in the pattern be? 9, 11
What would the 100th number be? 201

Tx2=20

Tx5=50

7xB =63
2xB=18

Angles

A

Estimate the size of angle a = 40
Estimate the size of angle b = 140

What do the interior angles of a triangle add up to? 180

W



https://www.bbc.com/bitesize/guides/zrck7ty/revision/1

